13/05/10
61 348 Service Operations Management
Final Exam Answer Sheet
1. Fatma Holiday Village observed in the last couple of months an increase in the number of complaints concerning its services rendered. The General Manager Fatma Chafra decided to form a brainstorming group to analyze the situation. This group, after a thorough investigation and brainstorming sessions came out with the following 5 categories of possible problems thought to create customer complaints:

· Dirty Rooms
· Maintenance problems
· Food & Beverage problems
· Reservation problems

· Others

Later, management decided to take some observations to confirm the evidence and to decide which problem needs to be tackled first. In this regard, the following data has been gathered by Fatma Holiday Village employees concerning the above spelled out possible reasons:
	
	Problem Areas

	Week
	Dirty Rooms
	Maintenance problems
	F &B problems
	Reservation problems
	Others

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	1
	1
	4
	2
	1
	0

	2
	2
	5
	3
	1
	1

	3
	3
	2
	3
	3
	0

	4
	4
	2
	1
	2
	2

	5
	5
	3
	6
	1
	1

	6
	6
	4
	1
	3
	4

	7
	7
	9
	5
	0
	0

	8
	8
	7
	4
	1
	0

	9
	9
	2
	2
	3
	3

	10
	10
	3
	2
	4
	5

	
	
	
	
	
	

	Total
	55
	41
	29
	19
	16


a) Plot a Histogram depicting weeks on the x-axis and “Dirty Rooms” Problem on the y-axis. (2 Points)
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b) Prepare a Pareto Chart for the above data. (2 Points)
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c) According to you, which problem area needs to be tackled first? Why? (1 Point)

According to the above Pareto Chart, the first problem to be tackled is “Dirty Rooms” because this very problem has the highest frequency among the 5 problems listed.

2. Define “Empowerment” in the context of “The Service Encounter”.  (2 Points)

“Empowerment” is a terminology referring to the fact of providing contact personnel with the training and information to make decisions for the firm without close supervision.

3. Explain some of the reasons for which contact employees might be engaged in unethical practices when serving customers. What is the role of management to eliminate such practices? (3 Points)

Some of the reasons for which contact employees might be engaged in unethical practices when serving customers might be:

· Serve multiple conflicting demands at the same time.

· Cover / hide their own mistakes

· Increase the firm’s revenue

· Satisfy a demanding customer.

Management shall establish formal controls (ex. Enforcement of Ethical Codes and punishment for ethical violations) and informal controls (discussion of ethics, internalization of a Code of Ethics, and creating an ethical climate) to eliminate such practices.

4. During the past tourist season, Ferrari Club did not achieve very high occupancy rates despite a reservation system that was designed to keep the Club fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Club was fully booked, revealed the record of no-shows as shown in the below table:

	No-shows
	Probability
	Reservations
	Cumulative

	
	
	Overbooked
	Probability

	
	
	
	

	0
	0.17
	0
	0.00

	1
	0.12
	1
	0.17

	2
	0.06
	2
	0.29

	3
	0.15
	3
	0.35

	4
	0.02
	4
	0.50

	5
	0.08
	5
	0.52

	6
	0.04
	6
	0.60

	7
	0.03
	7
	0.64

	8
	0.18
	8
	0.67

	9
	0.15
	9
	0.85

	10
	0.10
	10
	1.00


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 120.

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected Number of No Shows = (0 * 0.17) + (1 * 0.12) + (2 * 0.06) + (3 * 015) + (4 * 0.02) + (5 * 0.08) + (6 * 0.04) + (7 * 0.03) + (8 * 0.18) + (9 * 0.15) + (10 * 0.10) = 5.41 Rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected Opportunity Loss = 5.41 * 120 = $ 649.20.

In order to avoid some of this loss, Ferrari Club’s management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Ferrari Club has made arrangements with a nearby Club (Sivok Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 180 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)

	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.17
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00
	1,080.00
	1,260.00
	1,440.00
	1,620.00
	1,800.00

	1
	0.12
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00
	1,080.00
	1,260.00
	1,440.00
	1,620.00

	2
	0.06
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00
	1,080.00
	1,260.00
	1,440.00

	3
	0.15
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00
	1,080.00
	1,260.00

	4
	0.02
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00
	1,080.00

	5
	0.08
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00
	900.00

	6
	0.04
	720.00
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00
	720.00

	7
	0.03
	840.00
	720.00
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00
	540.00

	8
	0.18
	960.00
	840.00
	720.00
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00
	360.00

	9
	0.15
	1,080.00
	960.00
	840.00
	720.00
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00
	180.00

	10
	0.10
	1,200.00
	1,080.00
	960.00
	840.00
	720.00
	600.00
	480.00
	360.00
	240.00
	120.00
	0.00

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	$649.20
	$568.20
	$523.20
	$496.20
	$514.20
	$538.20
	$586.20
	$646.20
	$715.20
	$838.20
	$1,006.20

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to above Overbooking Loss Table, 3 rooms shall be overbooked because, that very scenario, will yield the least expected loss (i.e. $ 496.20)

N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
5. Explain “Promoting Off-Peak Demand” Strategy as to manage demand. (2 Points)
“Promoting Off-Peak Demand” refers to a strategy where management seeks different sources of demand in different seasons of the year. For example, a resort hotel, which is accommodating leisure customers in the high season, might be used as a retreat location for business or professional groups during the low season. This way, hotel can ensure a steady demand all around the year.
6. What are the 5 C’s of Strategic Planning? (2.5 Points)

The 5 C’s of Strategic Planning are:
· Customers

· Competitors

· Company

· Currency

· Country

7. Contrast “Importing Customers” and “Following Your Customers” Global Service Strategies.  (2.5 Points)

While “Importing Customers” refers to the global service strategy that attracts customers to an existing site rather than building sites overseas, “Following Your Customers” refers to the global strategy that involves expansion overseas to service existing customers who already have established multinational operations.
Good Luck
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